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B. Find the distance between (1,2) and (4,—2). (Hint: One can use the
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2. In the plots below, y = f(x) is graphed. On the left, plot the graphlof

y = 2f(z) + 2. On the right, plot the graph of y = —f(x — 2). ngm\m\ compression. kot
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4. Find the equation of the line that goes through (1,1) and (3, 7).
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5. Find the equation of the line with slope 4 that goes through (—3,5)

Ta thes coge, wnk\e ﬂl/\/te&}mn b, we G Qe a [’0'“} aad fhe le?e,
ihe cloge ©5 the gywhen{-, so we an skip Yhe pocegs of ﬁm&mj

Oirven $he C&lvmhvn) @_g{):m(%,%:), m=Y% g

AL

)

Y-S 1 (x 7 (-9

2y-y =313

AL 2eks
m.

A 2‘7‘3/ 31:g' go/
3—;:W+9 D Y-Tolrs2

=) j = \k%'} [?
6. Fill in the chart below:
\Ne qte Je@mry
z | h(z) | w(z) ; (h + w)(z) (how)(x) = h(w(x)) 2 fndun operww
+) ()= o swen) _ here
0| 3 2 2 (V4 wio) O""‘“) (l)’_b‘%((ﬁc()gg Addthon d
231255 3 e Sundhonc ¢
Q/\ [ 00) \A( ) ) (‘A X ) l,\- \,LL;X CK—)'U\;)C%)
ol OO () £l ow) (0= I (o (50 _
10 7 0 = LDyl 740 2 WCen) = [/WL),wa(n),
-7 =h(p) =3, m&f%f"@*’“"
C\,\;w) (07 acn) + wER) (how) (W)= W Cw ) OW{;;
2| 6 1 SNOEEING) = hw 12V b )
~h(w
= b= 7. >h(1)27.

7. A person standing 100 feet away from the base of a building observes that the
angle between level ground and the top of the building is 50°. How tall is the

building?
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8. For some choice of the parameters a, b, ¢, and d, the function y = a sin(bx+c)+d
is plotted above. Assume that a > 0 and b > 0.

A. Find d. — To )Err\A ere wond b mabe  cin (b +0) =0

B. Find a.

C. Find b.

D. Find c.



9. Above is the graph of y = g(z).
A. What is the domain of g(z)?
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D. Where is g(z) decreasing?
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